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Your Talent Is In Your Choice

~ ‘Section - A (Physics)

If E and G respectively denote energy and

gravitational constant, then E 1 as the dimensions
of 1

O M [L-2)[T-1)
@ [MIL-1[T"
® ML= [T

@  [M][LO) [T

An inductor of inductance L, a capacitor of
capacitance C and a resistor of resistance ‘R’ are
connected in series to an ac source of potential
difference V" volts as shown in figure.

Potential difference across L, C and Ris 40 V,
10 V and 40 V, respectively. The amplitude of
current flowing through LCR series circuit is

10/2 A. The impedance of the circuit is :

| | VWA

40V—«—10 V—>«—40 V—»
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A body is executing simple harmonic motion with
frequency ', the frequency ol@potential energy

18 .
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@ 8n

A thick current carrying cqble 0; l'a;d ldus B Carri.eg
current ‘I’ uniformly fhst];-l ue t?cgulﬂa itg
cross-section. The variathno ma'gflf? - fhd B(]..)
due to the cable with the distance ‘" from the axig

of the cable is represented by :
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A nucleus with mass number 240 breaks intg'_;ig_
fragments n@- mass number 120, the binding
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energy (ped nucleon of unfragmented nuclei is

7.6 MeV while that of fragments is 8.5 MeV. The
total gain in the Binding Energy in the process
8 : :

(1) 216MeV
© 0.9MeV
@ 94MeV
) 804MeV
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A parallel plate capacitor hag » uniform A 3
i 2T 1\](‘

field ‘E’ in the space between the plates, |

distance between the platesis ‘q’ ang ﬂ];,] ‘f the
each plate is ‘A’, the energy stored in the l.n'..‘ m of
is : (8g=permittivity of free space) Pacitor

" E?Ad

€0
1 2
—¢ E
03] 5 %0
B gEAd
1 2
—enE°Ad

@ 3%

The number of photons per second dn an average

emitted by the source of monochromatic light of

wavelength 600 nm, when it delivers the power of
33X 10 3watt will be : (h=6.6 x 10~ 34 Jg)

(1)) 1015 v

@ 108 Vo~ S0t YA

3 1017 "

( 0 < xtd x AV X LPXTD

) 10 AD X% n‘—‘\

Polar molecules are the molecules: ®© B

(8] having a permanent electric dipole moment.

2) having zero dipole moment.

(3)  acquire a dipole moment only in the presence
of electric field due to displacement of
charges.

4 acquire a dipole moment only when magnetic
field is absent.

The half-life of a radioactive nuclide is 100 hours.

The fraction of original activity that will remain

after 150 hours would be :
i e 30
B, 12 \ 5
1 %
® 7 \p-
22 k’(-wr
. w= Ne(d)
“ 3 ©
A capacitor of capacitance ‘C’, is connected across
an ac source of voltage V, given by
V=V, sinwt
The displacement current between the plates of
the capacitor, would then be given by :
(1) 1=V, eCsinat
2  I3=VyuCcosnt 55//
(3) Id =-\%coswt \ GSO ;
e }‘5 W
2 e V-
=——811Nn
® ta=Daino s
. \
v T

11,

12

13.

14.

P2

A screw gauge gives the following req_din ga when
used to measure the diameter of a Wire

Jour

Main seale reading : 0 mm
Circular seale reading : 52 divisions
(liven that 1| mm on main scale corresponds to

100 divigions on the circular scale. The diameter
of the wire from the ahove data is :

(1 0.062 cm
2) 0.52 em
3)  0.026 em
(4 0.26cm

Find the value of the angle of emergence from the
prism. Refractive index of the glass is V3.
.-____-'—ﬂ — -

J%
=) 60°
P 9
2 60
(6)] 30°
4 45°

In a potentiometer circuit a cell of EMF 1.5 V gives
balance point at 36 cm length of wire. If another
cell of EMF 2.5 V replaces the first cell, then at
what length of the wire, the balance point occurs ?

(1) 62cm
(2) 60cm
(3) 21.6 cm
@) 64 cm

A particle is released from height S from:the
surface of the Earth. At a certain height its kinetic
energy is three times its potential energy. The
height from the surface of earthand the speed of
the particle at that instant are respectively :

s [aS
4’V 2

)
®) % ‘/32gs
@ 5,
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20.

.otion that

The effective resistance of a @On nectio [
alleng

consists of four wires Ofe}l'—‘l/hth, 825 (). What

cross-section and(same naterial 1,?,9'_‘_&5““9 cted
will be the effective Tesistance if they are ot
in series ? '

M 40 @
2) 0250

& 050

o o &)

Water falls from a height of 60 m at the Eate E;f
15 kg/s to operate a turbine. The losses t;{e
frictional force are 10% of the input energy. How

much power is generated by the turbine ? 21.

(g=10m/s2)
1 7.0kW
(&) 10.2 kW
@)  8.1kwW
4) 12.3 kW

An infinitely long straight conductor carries a
current of 5 A as shown. An electron is moving
with a speed of 105 m/s parallel to the conductor.
The perpendicular distance between the electron
and the conductor is 20 ¢cm at an instant.
Calculate the magnitude of the force experienced
by the electron at that instant.

Electron v=105 m/s

R

20 cm
P 5A Q
(1) 8x10-20N

(624 4% 10_20N 22

3 8wx10-20N
4) 4mwx10-20N

Consider the following statements (A) and (B)

and identify the correct answer.

(A) A zener diode is connected in reverse biag
when used as a voltage regulator. ,

(B) The potential barrier of
between 0.1 Vt00.3V.

(1) (A)isincorrect but (B) is correct,

2) (A) and (B) both are correct,

(3)  (A)and (B) both are incorrect,

4) (A) is correct and (B) is incorrect,

P-n junction lieg

23.

oncentration in an Nty
he same as hole Concemratig&
onductor. An externa] ﬁﬁlg
across each of them. Compﬂre

The electron €

gsemiconductor 1s.t,

in a p-type semic

(electric) 18 applied

the currents in them.

(1)  Nocurrent will flow in p-type. current y,
only flow in n-type.

(2) currentinn-type= current in p-type.

(3)  currentinp-type> current in n-type.

(4  currentin n-type >current in p-type.

A dipole is placed in an electric field as shown, |,
which direction will it move ?

(1)  towards the right as its potential energy will
' increase,

(2)  towards the left as its potential energy will
increase,

(8)  towards the right as its potential energy will
decrease.

(4)  towards the left as its potential energy will
decrease.

A convex lens ‘A’ of focal length 20 cm and a concave
lens ‘B’ of focal length 5 cm are kept along the
same axis with a distance ‘d’ between them. If a
parallel beam of light falling on ‘A’ leaves ‘B’ asa
parallel beam, then the distance ‘d’ in cm will be :

1 30 P =+ 120
@ 25 p-%
@ 15

“) 50

Telocity from the Earth’s surface is v,
The escape velocity from the surface of another

A spring 1s stretched by 5 cm by a force 10 N. The planet having a radius _four timosPhat of Earth
time period of the oscillations when a mass of 2 kg and same mass density is :
is suspended by itis: ) " W-
(1) 0.628s /;,\ ) e
(2) 0.0628s % @ v \J -
3) 6.28s RE Q / S0 ie
@ 3.14s Az %\ R Va /(
= e @ g 2
\5 A v v NIPARN
- sBy SanT e
o ~"Scanned’'By Scanner Go



https://play.google.com/store/apps/details?id=com.cam.scanner.camscanner.documentscanner

24.

R, are connected by a wire. Then the ratio of

www.educhem.in ~ Call - 9748641270 ~ Mail - info@educhem.in

An electromagnetic wave of b

incident on a photosensitive surface of negligible

wftlj%"-@mn. If ‘m" mass is of photoelect ron
ermtted from the surface has de-Broglie wavelength

g then :
Y

2h ), . "
K= = P2
(§)) (nm) d f :

@ >~=[Eﬂ]’\d2

he

wavelength ‘A’ iq

2me .
@ ?\=[ o }\dz

Alens of large focal length and large aperture is
best suited as an objective of an astronomical
telescope since :

I a large aperture contributes to the quality
and visibility of the images.

a large area of the objective ensures better
light gathering power.

a large aperture provides a better resolution.
all of the above.

&)

4
Two charge@conductors ofradiusR, and

surface charge densities of the spheres (oy/oy)is::

e
RS il ‘@“’

@
R]_ p,- X
] 5 '_#..--“'
@ & o @_Ea:z’b Al
Ry 9y
< Sind J CAA
R, LN
@ Ry

VoK

'For a plane electromagnetic wave propagating in

x-direction, which one of the following combination
“givesthe correct possible directions for electric
field (E) and magnetic ﬁelii_(_l:’i__msp_ectively ?

AN ANOA
O —j+k, —j+k o
AN AN -,
o e g N <
AA 7 o S
@  —j+k, —j-k ¢
NETA ~AA ‘\Sd\t’\
@ Gk, —j—k /@

28.

29.

30.

31.

P2

A cup of coffee cools from 90°C to 80°C in t minutes,
when the room temperature is 20°C, The time
taken by a similar cup of coffee to cool from 80°C
to 60°C at a room temperature same at 20°C is :

(1

13
' e
@ o
13
@ b
10
s—1
(1) 13

The equivalent capacitance of the combination
shown in the figure is :

C
—il

:if Al T
Lyl
C
1 3C2 % r
<@ S8
@ 20
@ o

If force [F], acceleration [A] and time [T] are
chosen as the fundamental physical quantities.
Find the _@i_mensions of energy.

M  [FI[A-1][T] <
@  [F][A][T] e @ E

@)  [F1[A][T?] P e

@ [FI[A][T-] Y

€

A small block slides down on a smooth inclined
plane, starting from rest at time t=0. Let S be
the distance travelled by the block in the interval

V'&-@

: S
t=n-—1tot=n. Then, the ratio S 2 is:
n+l % j

2n 3

W5 = b

et e <
& @ \Q\Q,KQ
2n-1

@ 2nt1

“@ 2n-1 0_
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_ 35 Match COlumntch from the given choiceg
d dBI‘lSlty ' h correCt ma
The velocity of a small ball of mass . il? glycerine . I Column . 1§
d. when dropped in a container ﬁ]]ed “{3 the density Column -
b;:cmnes constant after some Hpiss n re (P) —l-nm g
m— ‘
of glycerine is 9 then the viscous force acting (A) Root mear Squi les ’
] A S - as mo ecu
the ball will be : speed of g
» [
1 2Mg @®) Pressure exerted M
ideal gas

@ % by idea’ g 1

4 St =RT
@ M (© Average kineticenerey 2

3 ) of a molecule

4) —-M _;i
Yo (D) . Total internal energy ;| D) kgT
Column - I gives certain phyaical'ternis assotiated T iy Of_' 1 -mo-le of ari ©HOLZ S <
with flow of current through a metallic conductor. dlatormc gas S BRI ot

Column - II gives some mathematical relations

involving electrical quantities. ~Mal
Column - I and Column - II with appropriate

relations.

Column-1 e Coiumn - II .
Lrm |
(A)  Drift Velocity ®) ez
(B) Electrical Resistivity nevy
. . ek
(C) Relaxation Period R) ;1’
. > E
(D) Current Density - S) 7

@  (A)rR),B)-Q), (C)S), D)-P)
@ (A)-®),B)ES), (C)-P), D)-(Q)
@)  A)-R), B)S),(O)-@Q), D)-(P)
@  (A-R),B)-P),(C)-@S), D)@

A radioactive nucleus ?:X undergoes spontaneous
s e

decay in the sequence
e sesecitiin

:.‘EX%Z—IB —7-3C—>7_9D, where 7 is the

atomic number of element X. The possible ke,
particles in the sequence are :

o BL,op’
@ o B, BY

3) B BT
__,m/l;*,a, B~

" ‘Match-|

&f @)-®), ®)- @, - @), 0)-©
@ @-®,@7®,0)-6.M)-Q

/ﬂ/ @)@, B - ®), ©)~(S), D)4 P)

36.

@ @@ B, 0-6).0)-®

Section - B (Physics) :

In the product 3 _-

- (—) -
F=q\uxB
—

( AR A A
=quXx|\Bi+Bj+Byk

Forq=1land v=2i+4j+6k and. .

o1

b A N A

F=d4i-20,j+12k

ol B (Y
What will be the complete expression for B:?

A N A
@ ei+6,-8k

. N A A e
@) Uit j&ep T T

A A

FaY
B) e g6 =Bk

A A A

@ gi+8j-6k
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39.

From a circulal_' ring of mass ‘M’ and radius ‘R’ an
arc con-esppndlpg to a 90° sector is removed. The
moment of inertia of the remaining part of the
about an axis passing through the centye ¢
ring and perpendicular to the plane o
K times ‘MRZ. Then the value of ‘K

ring

f the
ft.h[} i ng 8
"is

1
® 3
3
@ 3
7
@ 3
1
@ 2

Three resistors having resistances Iy, g and ry
are connected as shown in the given circuit. The

. I3 ; .
ratio — of currents in terms of resistances used
Lenpea.

1
in the circuit is :

Ty

iy

© —
T +13 ¥
Y

11 'J;g,.ér—'
@ nin _

n P
@ Tg+13 ™

n
@ ) +19

A ball of mass 0.15 kg is dropped from a height
10 m, strikes the ground and rebounds to the same
height. The magnitude of impulse imparted to
the ball is (g=10 m/s?) nearly : =00

(1) 1l4kgmis
2 Okgm/s

(3 4.2kgmls
@ 21kgmls

A step down transformer connected to an ac mains
supply of 220 V is made to operate at 11V, 44 W
lamp. Ignoring power losses in the transformer,
what is the current in the primary circuit ?

1 4A
@ 02A
3 04A
@4 2A

www.educhem.in ~ Call - 9748641270 ~ Mail - info@educhem.in

7

41.

42.

43.

P2

A uniform conducting wire of length 12a and
resistance ‘R’ is wound up as a current carrying
coil in the hape of,

(i)
(i)

an equilateral triangle of side ‘a’.
a square of side ‘a’.

The magnetic dipole moments of the coil in each
case respectively are :

(1) 4Ia?and 31a2
@ V3la%and 31a?
(3 3la?andla?

(4) 3Ia?and4la2

A particle of mass ‘m’ is projected with a velocity
v=kV, (k <1) from the surface of the earth.

(V, =escape velocity)

The maximum height above the surface reached
by the particle is:

sz
(1) 1_k2
2
k
@ R[r_ﬂ
i 2
@ R[m}
R%k
@ T

A series LCR circuit containing 5.0 H inductor,
80 wF capacitor and 40 () resistor is connected to
230V variable frequency ac source. The angular
frequencies of the source at which power
transferred to the circuit is half the power at the
resonant angular frequency are likely to be :

(1) 42rad/sand 58 rad/s
(2) 25rad/sand 7T5rad/s
(3) 50rad/sand 25rad/s
(4)  46rad/s and 54 rad/s

Scanned By Scanner Go
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8

of radiug R with a

A particle moving in a cirele
T to complete 0N€

uniform speed takes a time
revolution.

the same gpeed
he maximum
The angle of

If this particle were projected with
at an angle ‘0" to the horizontal, t
height attained by it equals AR,
projection, 6, is then given by :

(D

&)

@

74
§=sin". =R &
gT*

Two conducting circular loops of radii R, and Ry
are placed in the same plane with their centres

coinciding. IfR;>>R,, the mutual inductance M
between them will be diremrtional to:
R2
(1) Rﬂf
R1
2) Ez_
Rg
® R
(4) E{
Ry

Twenty seven drops of same size are charged at
290V each. They combine to form a bigger drop.
Calculate the potential of the bigger drop.

@ 1980V
2 660V
@ 1320V
@ BB o ) e Ve
X

47.

48.

49.

@
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ym rod oflength 900 cm and masg S,
wedge placed at 40 cm markg"
pended from the rod at 5

and another unkno%? mass ‘m’ i suspendeq
the rod at 160 ¢ mark ag shown in the fi,
[Find the value of ‘m’ such that the rod %,

equilibrium. (8=

0 20cm 40 em

A unifo
halanced on &
mass of 2 kg 18 84°

10 m/s%)

160 cm

2]

—~
L
S
—
2
P
m

=
[+ =1

@)

1597092

b
T

€)

l=n
aq

G

placed at a distance of 60 cm from
f focal length 30 cm. If a plan:
mirror were put perpendicular to the principal ax:
of the lens and at a distance of 40 cm from it, the
final image would be formed ata distance of :

b

«—60 cm—-—H—-40 cm
20 cm from the plane mirror, it would bea

A point object 18
a convex lens 0

e)]
virtual image.

(2 20cm from the lens, it would be a real
image.

@3) 380 cm from the lens, it would be a real
image, g
30 cm from the plane mirror, it would bed
virtual image.

9
A car starts from rest and accelerates at 5 m/s™

At t=4 s, a ball is dropped out of a window DY
person sitting in the car. What is the velocity 8"

acceleration of the ball at t= 6s?
(Take g =10 m/s?)

2042 m/s, 10 m/s?

®

@ 20 m/s, 5 m/s®
(3 20m/s, 0

@ 20Y2mls, 0

y Scanner Go
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9 P2

al signalg are [ 52,  Given below are two statements -
What would Statement | ;
Aspirin and Paracetamol belong to the class of
_ narcotic analgesics.
5 L Statement I1 :

5 : - .
A 5 Tﬂ\ Morphine and Heroin are non-narcotic analgesics.

In the light of the above statements, choose the

50. Forthe givencircuit, the input digit
applied at the terminals A, B and C.
be the output at the terminal y ?

correct answer from the options given below.

5 : : (1)  Statement 1 js incorrect but
B 0 ; : Statement I is true.
0 ————l—._____l________

(2)  Both Statement I and Statement II are

€.
5 (.»(-BJ/]L;:th Statement I and Statement II are
C J‘_'\ false.
0 . . (49  Statement I is correct but Statement I1

is false,

A0 QO 53.

Statement I :

Acid strength increases in the order given as
577 HF << HCI << HBr << HI,

\"* Statement II :
B: 0 / As the size of the elements F, Cl, Br, [ increases
y down the group, the bond strength of HF, HCl,

HBr and HI decreases and so the acid strength
\ increases.
(N In the light of the above statements, choose the
o= correct answer from the options given below.
()  Statement 1 is incorrect but
t ty t ¢ t t Statement I1 is true.
o ¥y 1 ’ 8 |4 # 6 (_ {2~ Both Statement I and Statement II are _ |
true.
ov
(3)  Both Statement I and Statement II are
(2) (4)  Statement I is correct but Statement II
€ ov is false.
3) 5V | 54. Which one among the following is the correct option
for right relationship between Cp and Cy for one
(4)' —— 5V mole of ideal gas ? i
| = aV (I  Cy=RCp _Cy = K
1597092 @  Cp+Cy=R G
%" Cp-Cy=R
Section - A (Chemistry) @ Cp=ROy

' 55.  The correct option for the number of body centred

unit cells in all 14 types of Bravais Tattice unit

51. The incorrect statement among the following cells is ; T T T

is : ; n 3 }(E |+ @
(_/{ Actinoids are highly reactive metals, g; ;
especially when finely divided, \_/(47/ 9

@ Actinoid contraction is greater for element 56

to element than Lanthanoid contraction. Among the following alkaline earth metal halides,

one which is covalent and soluble in organic

@)  Most of the trivalent Lanthanoid ions are L @ ,
colorless in the solid state(Q»” \Wﬁﬂjum ciloride B /
2)  Calcium chloride

@) Lanthanoids are good conductors ofheat and (3

. S i ] .
electricity. trontium chloride

@)  Magnesium chloride

' Scanned By Scanner Go
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1
- ite
Tritium, a radioactive im-,i_(:.po n‘l:hydl ogen, eml
which of the following IH\I'“CI(‘-R ?
(1)  Neutron(n) A
2) Beta (p) AN
9. Alpha (0 l‘ %2 7@
— @  Gamma (y) 1
The maximum temperature that can be achievec

in blast furnace is :
(0 upto H000 K
(2) upto 1200 KK

B upto 2200 K

|
o, e of the B L
?1? . 2Pb(NOg)y = 2PPO+4N02* %
@ KO0 TCT 302
@ Cr0p+ 2Al-—-£"" Al,O3+2Cr
+H,T

;A fre +2HC1 = FeCl;
The right option for the statement Tyndalle,

64. n for
is exhibiteiil)_jfp._}_f_i_;

4) upto 1900 1< (l) Urea solution —
58. BF,is planar and electron deficient compound. @ NaCl solution CM%’ (—
Hybridization and number of electrons around the ‘ 8
central atom, respectively are: 3  Glucose solu —
() sp?and8 Starch solution  __
-8y spiundd . >P?"_ 2 ' ’ etamerism is:
™ _spland6 £ Qp® @ The compound which shows mEZ7 77 77 15
\_/(4}./5132 and 6 . 6 CH ;00 C@" N
60. The major product of the following chemical ( ! C.H %
reactionis: b @ ECE (i
CH, 0 CsHgO Lo = ey
.. > CH - CH=CH, + HBr (Cst1sC0:05, 2 @ CsHeOu e Lt ~O='C, 7 &
3 .
4z~ R0z L 2
CHg ..-\c-‘-‘-l-'--'z;' —— | 66. Match List - I with List - IL. G/V{
@ W ,CBr—CH,—CH,4 List-1I List-II oA
H, N AR o @  Squarepyramidal
3 c - .
\,fg)/c :CH _ CH,— CH,—Br \ 7 ?/‘{15) SF Trigonal planar
g;ls Cl & © BrFy (i) Octahedral
3 i bi; idal
CH3” Choose the correct answer from the options give
CHj3 " below. : 3 ' g
G . M) @-Gv), (b)-(id), ©-G), (-6 p
. LB @-69) -G, ©-O. @-6 5 ¢
61. The molar conductance of NaCl, HCl and 3 (a)-m), _(b)-(iii),'{c)f-ﬁﬂ, @-® C/
CH3COONa at infinite dilution are 126.45, 426.16 @ (a)-i), (b)-G), (0)-Gv), (d)-Gi) Q/[\
and 91.0 S cm? mol ~! respectively. The molar
conductance of CH,COOH at infinite diluti dilutionis. | g7 Which one of the following polymers is prepare
Choose the right option for your answer. by addition polymerisation ?
(1) 540.48 S cm2mol~! CHf00 \+ T
2 201.28Scm2mol—1 s (1)  Dacron e
390.71 S cm2mol -1 ChgledMa—>WE0 (55 Tefion TN (@
(4) 698.28 S cm? mol ! - @&  Nylon66 \Y \U/ ,
62. A particular station of All India Radio, New Delhi, @) Novolac
broadcasts on a frequency of 1,368 kHz (kilohertz).
The wavelength of the electromagnetic radiation B fici o dnBicioncs inanae LF
T = he emitted by the transmitter is : [speed of light..( 6s. ) s F)de ‘mencyls & e
A c=3.0x108ms~] Vitamin B,
==WY ) gi;’g cm Wbl MG\ Cthedothg @ VitaminBy,
.3 m oy
~ @) 219.2 m L264S Yeete GO (3) Vitamin BG
(4) 2192 m o6 lé 4) Vitamin B,
o "
e MR Yoo
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go. ldentify thecompound that will yaner ith H v
. reagent togive a solid which dissolve ”M"' 76.  The structures of beryllium chloride in § state
oly (ST8) ]‘|| ‘” .
CH, CH ali, and vapour phase, are : o\
(n  CHs T G Iy (1)  Chaininhoth j95r
CH, (2)  Chainand dimer, respectively ( ﬂ.Q_Q‘l-) Y\
CH? . (3)  Linearinboth
@ o No,
! B /f( Dimer and Linear, respectively
CH, CH; ’ | |
&) cHy”  “Np
76.  Which one of the following methods can be used to
/CH'-Z .. obtain highly pure metal which is liquid at room
CHg \NH;; temperature ? gt T el o s
Fe (1)  Zone refining %@(/ / pec<
ionic radii because of : D Lw/[]lectroly51s et
' hqvm similar ¢} B 1 it ;
(.D bel € chemical ' Properties " Z - (3)  Chromatography -~ @9/
@ elonging to same group tn I" |
(3) diagonal relationship 3 (4) ' Distillation -
‘_(43/ lanthanoid contraction -
71. Ethylene diaminetetraacetate (EDTA) ion is:: 77.  Right option for the number of tetrahedral and

(1) Tridentate ligand with three “N” donor

g
‘/(ﬂ/ggfién_tm:gh]ggand with four “O” and two

“N” donor atoms

octahedral voids 1nQ1£xagonal pnmmve unit tell

are
© GeH
e |

(3  Unidentate ligand \ﬂi’\/ 8,4 - .
(4)  Bidentate ].i_gand with two “N” donor atoms m 6, 12 [j—'ﬁ/l('\ 73
72.  The major product formed in dehydrohalogenation 2,1 @ 4P @
reaction of 2-Bromo pentane is Pent-2-ene. This 5=
product formationisbasedon? —
(1) Huckel's Rule b 78. The correct structure of 2,6- D‘u:aethy] dec{d-ene
(2" Saytzeffs Rule Cry _CT -
(3 Hund's Rule @ g,
“) HO&“@P'Q\B:QF:” =LY c==c=c-4r<
e
73. Anorganic compound contains 78% (by carbon
and remaining percentage of hydrogen. The right
option for the empirical formula of this compound
is : [Atomic wt. of C is 12, H is 1]
1) CH,
@ CH C ;‘:\'9_
8 2L
@ _ CH, - |
CH,
74.  The pK, of dimethylamine and pK, of acetic acid

 are 3.27 and 4.77 respectively at T(K). The correct
' option forthe pH of dimethylammonium acetate
solution is :

o

{

5% o L,
1) 625 i
@ 850 Y’\{ . m@ﬁ 22 y AN T A
y.ao \ca picY o (4) \
7.75 Wz e, 2y
T st \ ley === ) 0 plea-PYen)
_ . I =5 e
S I P

B e i et e e R

 ———PR TR T
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pect option

vie'slaw, whie :
gas at diffe

Choose the coT ok

! M we i A
representation of Bo 1 sh [

et

—
te T'I'i]‘l"'l.'ﬂl ures .

'Y

l,

B

Volume (V) —
(dm®)

—

@ SE 200 K
g~
- Volume (V) —
(dm?) *lft
r XU
£ |200K, 400 K, 600 K)
L ~
@ 2
g *
- Volume (V) — &f
(dm?) .
Hoa S
S D%
D/
— be
& QQQQ’ Q VL \{
@ £%
2<
8

Volume (V) —
(dm?)

The following solutions were prepared by dissolving
10 g of glucose (CgH,0¢) in 250 ml of water (Py),
T0¢g of urea (CH,N,0) in 250m] of water (P,) and
10 g of sucrose (C;;H5;0y,) in 250 ml of
water (P5). The right option for the decreasing
orderof osmotic pressure of these golutionsis :
(1)) APy>P>Py

P,>P,>P, quﬂ-
i

The correct sequence of bond enthalpy of ‘C-X bond

18 =

CH3-Cl>CHy~F>CH,~Br> CHy~1
@) CHB—F<CH3—0140H3—Br<CH:s”I
3) CHS—FbCH;,-Cl>CH;,—BI'>CH3"I
) 01{3—F<CH3-01>CH3—Br>CHr1

(&

electron gain enthalpy. '
2)  Noble gasesare sparingly _Emluble in water
(3) Noble gases have very high melting ang

f® |

8.

1m0
@ 120
@) 180°
@ 60

Noble gases are _m?med
towards reactivity.
atatementa out them.

u-Q Noble gases h

—

Reaction Progress

v\

@ iy

Reaction Progress

N
VAN
K. oN

3) B

Reaction Progress

ZEWAN

“)
}9/ A B
20 Reaction Progﬁs}a

Scanﬁec@vgcanner Go

12 :
for t:\‘"ﬁ"""“] @ I)ihl-dml;mglcnflenst.stablecunfog_e_rfﬁ-gty

& o

because of their inertne.,
Identify an incorrey,
Rmctrecaln <

ave large positive values

boiling points. _ .
Noble gases have weak dispersion forces,
84. Whatisthe [UPACname of the organic compoun;
formed in the following chemical reaction ?
Acetone (i) C,HsMgBr, dry Ether _ p. diics
(ii) HyO, H*
2-methyl butan- -0l
2) 2-methyl p_ropan-Z—ol - l-—gs
(3) pentan-2-ol
(4 pentan-3-ol et
85. For a reaction A—B, enthalpy of reaction is
— 4.2 kJ mol~Tand enthalpy of activation is
96 kJmol T. The correct potential energy profile
for the reacwmoption.
A
g = Np—
RS
(1) A v K9
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Section - B (Chemist 13 P2
Stry) 89. Match List - with List - I1.
g6, Match List - T with List - 11, Ligt-X List - 11
Ligt=1 List -1y (@) _CO.HC_, ) Hell-Volhard-
_ . o Anhyd.AICI/ Zelinsk .
@  280,@+0,@®) > () Acidrg; - CuCl euneky reaction
250,4()
»  HOClg) b D
)] i v L 5
s s g ' (ii) h,m““ (b) R—C—-CH,+ (i) Gattermann-Koch
OH+C1 \ NaOX —— reaction
©  CaCO3+H,80,— (i) Ozone () R—CH,-OH (iii) Haloform
CaS0, +H,0+CO, depletion +R'COOH reaction
' Conc. HgSO4 |
@ NOy g _hv . (iv) Tropospheric ’
NO(@®+0(® pollution : @ R-CH,COOH (iv) Esterification
Choose the correct answer from the options given U X L
e_py below. = @ H,0
. A (@)-Gid), b)), ©-v), (@)-6) E:llz?je the correct answer from the options given
8 @ @0, 0w E-0m), @-0v) ,aa/(a)-(ﬁ), (b)-(i), (©)-(iv), (d)-6)
, 3) )-(i), (b)-(1), (©)-Gv), d)-G) @  (@-{v), (B)-0), (©)-G), (d)-(i)
(a)-(iv), (b)-(iii), (c)-(), (d)-(i) @  (a)-Gi), (b)-(), (©-@), (d)-Gv)
: @  (a)-@), (b)-(iv), (0)-(1i), (d)-(1D)
9
87. CH3;CH,COO~Na + Nag?ﬁ;; —> CH3CHy+ | 90. The intermediate compound X' in the following
Na,CO,. chemical reactionis:

Consider the above reaction and identify the

| 9
- C
missing reagent/chemical. s cs, . H;0* ~u
(1) DIBAL-H :
_-Cl

@ ByHg

‘ CH
(3)  Red Phosphorus . O/ T
_/(4)/ Ca0 | '

H(OCrOHCI
88.  The correct option for the value of vapour pressure @ CH(OCr -
of a solution at 45°C with benzene to octane in
molar ratio 3: 218 :
Uil Gt

[At 45°C vapour pressure of benzene ie CH(OCOCHy),

280 mm Hg and that of octane is 420 mm Hg. @
Assume Ideal gas]

(1) 350mm of Hg
(2 160mm of Hg CH

' ~al
3) 168 mmof Hg @)

/Cl

(4) 336 mmof Hg
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P2
y The product formed in the following chemical
reaction is: \
CH,—C.LOCH, —<) Vou \'5“"\
Ho = VL, ) @a
(‘0‘4- IfIaBLL? 9 /
olle l'{
CH, CoH50
OH 0 'S ol

Il
M\%ICHZ_C_OCHH
CH;

OH H
54 I
CHy— (|3 —0OCH,4
e OH
CHg
0
CHgq
OH H
I
(C)) OH
CH,
1
92. The slope of Arrhenius Plot [In k vis T) of first
order reaction is 103 K. The value of E_ of
the reactionis. Ch the correct option for your
answer.
[GivenR=8.814 JK~1mol 1]
(1) _ -83kdmol~! ta-
41.5 kJ mol ~!
@  83.0kJ mol-! %=
4) 166kJmol!
93. Thereagent R’ in the given sequence of chemical
reactionis: T
NH, N, Cl”
Br

B B Bi
" NaNO, HCl F TR o]
— —_—
0.5C
r

14

Br - Br

(1) @QD ost

@ ~HQh=s g
CH,CH,0H

@) HI

.on of an ideal g,
. ; xpansio — Bagy,
04. for ,,-reverslble E_.E-——ﬁ‘é'gorrect Optloﬁgz\.ﬂ\n
1

e
isothermal condition;

S, an=0
\_/Q)/AU =0, ‘ﬁstotal =0
)

AU#0, ﬁswtal‘to

AU=0, ﬁswtalio
. : ions which one .

05. e
an iso-glectroniC :
i
o2-, F~ 94/
. Na+, Mg?* - oS Eh
() Mn2* Feo* 13 2,

vityl' of 0.007 M acetic a4 1
What is the dissociat-m,
d ? Choose the correct opt;,.

The molar conducti
20 S cm? mol_‘l._
constant of acetic act

96.

e =1
A° =350 S cm? mol
H+
A° S
CH3C00

=508 cm? mol ™!

(1) 2.50x105 molL~!
1.75%10~4 mol L~ !

@ a3id
~(®  250x1074molL™" .
@ 1.75%107° molL~!

97. Which of the follow‘mg":ﬁlolecu]es i@}t

nature ? o S

(1) NO, ”

@ POCl, &

@) . CH,0 : O -
SbCl, A %

98. Match List -I with List-IL.

List-I ) List-1I

(a) [Fe(CN)gl®~ @ :5.92BM

®). [FeM0)3* G '0BM

© [Fe(CN)gl*~ (iii) * 4.90 BM

@ [Fe(H;0)2* (iv) 1.73BM

Choose the correct answer from the options given

belo 3
(8)-Giv), ®-), (©-Gi), (@)-(ii) &

@  (@-Gv), (b)-(i), (©)-(), (d)-(iii)

@  @-Gd), ©)-Gv), (©-(), [d)-6)

4)  (a)-@), (b)-(iii), (c)-(v), (d)-(ii)

99. Choose the correct option for the total presswr®
(in atm.) in a mixture of4 g Osand2gH, confined
in a total volume of one litre at 0°Cis:

[Given R=0.082 L atm mol = 1K~ ! T =273 K]

(1) 26.02

2) 2.5618 m

(3) 2.602

) 25.18 T
\\3
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100. 11.1 Whi:h o ?f t-'ho fn”‘J\\‘ing arrnng La P2
given SEAUENCE 18 Mot strictly oo "CNts the | 108, The lueti
properties indicated Siairat st according ¢, ” " e production of gametes by the parents,
@ CO,<Si0, * _‘St- 1t ? he formation of zygotes, the ') and Fy plants, can be
<8n0, <PbO, l ]“‘f"l’nsmg l;liud_erﬁ""lgqg fzom 5 diagram called ;
@ HF <HCI Xidizing hower () Netsquare o
: Incrasa: e (2)  Bullet square
<HBr <HI st;-énaamg acidic 3)  Punchsquare
@3 HyO<H,S . Frion g il (B Punnett square
<H,ySe < H,Te casing pKg | -
@ NH. < PH valueg a 07. Diadelphousstamens are found in :
- AEH - qu : lncm;ming (1) China rose and citrus
=3 Hy acidic chy (2)  China rose
Aracter (3)  Citrus
Section - A (Biology . Botany) B Pea
s ; 108. Match List -1 wi ist -
101. Mutations in plant cells can be induceq .s with List - I1I.
) ' Zeatin ced by : List - 1 List - II
@ ' Wistin )| Cohasion 0 I\l/lor‘e attraction in,
(3  Infrared rays \\ kdqmd phase +
utual attraction
./—(4"/ Gamma rays (b) |Adhesion i) among water
102. Which of the following j i molecules .
€ 18 an_incorrect <
9 o
?:;item}intl. _— io: (hetime b iion )cn) “}:ater loss in liquid
uclear pores act as passages for i = P1a5e
Proteins :
and RNA molecules in both directions (@) |Guttation P (i\) ﬁf::’;ﬂi’f;?“!&’dﬂ
— es”

etween nucleus and cytoplasm.

Matu.re sieve tube elements possess a gel’;gise the correct answer from the options given
conspuill.lous nucleus and usual cytoplasmic i ® © @
organelles. .
i i G @ v (i
(6)) MFPOt{OdJES are present both in plant and @ G (Gv) Ei)') * EE;
e s ; @) @@ 6
@)  The perinuclear space forms a barrier G) @ Gv) @

between the materials present inside the

nucleus and that of the cytoplasm. 109. Gemmae are presentin:

Some Liverworts
103. The term used for transfer of pollen grajns from (2)  Mosses
anthers of one plant to stigma of mﬂ' lant (3  Pteridophytes
which, during pollination, brings genetically 4  Some Gymnosperms

different pres of pollen grains to stigma, is : 110. A typical angiosperm embryo sac at maturity is:
1 Cleistogamy (1)  8-nucleate and 8-celled
) nogamy «A2y—"8-nucleate and 7-celled
A Geitonogamy (3)  7-nucleate and 8-celled
@ Chasmogamy “@ 7-nucleate and 7-celled

104. The factor that leads to Founder effect in a | 111- Inspite of interspecific competition in nature,
— which mechanism the competing species might

populationis: : :
A 2 have evolved for their survival ?
Hes v (1)~ Predation -

@ Naturfal selectlr?n . 2 Resource partitioning

(3)  Genetic recombination — 48 Competitive release

(4) Mutation ; (499 Mutualism
105. - Genera like Selaginella and Salvinia producetwo | 112. During the purification process for recombinant

kinds of spores. Such plants are known as: DNA technology, addition of chilled ethanol

Mewrosporous precipitatesout . e
(1)  Polysaccharides
2 Homosorus @ HNA

(3) Heterosorus ‘/63)/‘ DNA

(@)  Homosporous (4)  Histones
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h g Wyidiam
s de Oon R gl _c!-’nnvr{ with of L o
TA eftrAannE 0 1T\ 1 "'I.'“Tl"]'l.-' r
" }”\nmi when nr-u-wdnndm’l v\ radi’
AT {
nc
(1 Reight blue hands
(2) Yellow hands
e (3 TRrght orangr hands
(4 Dark red hands "
. wyrageen -
. ce arragee]
114. Which of the following n}gr_}“(: ‘11_13[?1—1- &

Tk Rluye-green algne
) (ireen nleae
3 Rrown algac

C Red algae s

Plants follow different pathways 10 wg(;j";';'::f;u(t

environment or phases of life to f't"l'"'[1 dl-

kande of structures. This ability 18 called :

(1) Matunty

@) Elastiarty

(3  Flexibility
A~ Plasticity
116. Whichofthe following plants is monoecious ?
PR Cweas circinalis M
2  Caricapapaya s

{3 Chara

Marchantia polymorpha

115.

4)
117. The site of percepsion of light in plants during
photoperiodism 1s :
(2) Shoot apex
(3) Stem
4) Axillary bud
18. The amountof nutrients, such as carbon, nitrogen,

pﬂhg_r_!:_ﬁ_and calcium present in the soil at any
given time, 18 referred as:

(1)  Standingcrop,
(2) Clmax

(3) Climax community
,_,(Air/ Standing state
9. Match List - I with List - I1.
[ List -1
’a) Lenticels

List - 11
(i) |Phellogen
Suberin deposition

(b) |Cork cambium __|(ii)
(c) |Secondary cortex |(iii) [Exchange of gases
(d) [ Cork (iv) |Phelloderm

Choose the correct answer from the options given
below.

@ b)) @ @
M v @ @
@ _~Gv) @ @) @)
(m) @) Gv) @)
@ G @) @ O

1597092

16

120, \\'lm'llnfthr- following atages of meiosia i,
¢ divigiowof centromere ? g
(N 'l't‘lr;pi\.‘lw'-_.hb“*
(2) Metaphase |
(3) _MetaphaseIl
“Y Anaphase Il
121. The ﬁrgi. Hf.}]_l"ll(‘ product of CO, fixation in 8Orghy,

192
(1) Phosphoglyceric acid
(2)  Pyruvicacid
87" Oxaloacetic acid
(1) Succinic acid

122. Which of the following statements is not correcy ,
N Pyramid of numbers in a grasslan,

cosystem is_ti:nii_g_ht. _

2" Pyramid of biomass in sea is genera]],
inverted.

(3) Pyramid of biomass in sea is general]y

upright.
)Q- Pyramid of energy is always upright.

123. Which of the following algae contains mannitol as
—-_-_-_‘-_—-

reserve food material ?
(1) Ulothrix £

_/({ Ectocarpus

“4) Vofvoa)'(

124. When gene targetting involving gene amplification
is attempted in an individual’s tissue to treat
disease, it is known as : N
(I  Safety testing I

(2) Biopiracy K_

3) ene therapy X'
Molecular diagnosis

125. Match List - I with List - I1.

LM

List -1 List - II
(@) | Cristae D Primary constriction in
i i N /‘ chromosome
) [ .. |Disc-shaped sacs in
(b) | Thy lakouisy\ (uz Golgi apparatus
X .. |Infoldings in
© Centromel&(/?&) mitochondria
Flattened membranous
(d) |Cistern \z) sacs in stroma of
BB plastids
orrect answer from the options given

Jy; . Choose the ¢

y "h".: below.
Seta. @ (b ©@ @
W G G @ ()]
2 (Gy) @) @) (@)
@) _~@) @Gv) (i) ()
@) aGv) @ (i)
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Match List =T with Ljgy -1 17 P2
List - 1 132, Amenaaliam can be repreaented as :
List - 1

S—— (N Speciea A (+) ; Speciea B (0)

126.

oplast fusion

Toty OteTy
inteney

Plant tissue culture

Meristem culture :i?) L‘umnm““' — @ ] Speciea A (—) ; Species B (0)
s . . D0Mm m‘]nn 2
Micropropagation ) | Virus ﬂ‘m: ;] nts | (3)  Speciea A (+); Species B (+)
N ~ .y an . e
Choose the correct answey from the OBtitne 1 8 @) Snecies A (=) -4 i o
below. o= mven wpecies ):Speciea B(—)
@ M © @
Q) (i\ji i) @ @) 133, Which of the following is not an application of PCR
@ G G G (Polymerase Chain Reaction) ?
:“ :n)} :]‘J) ?;*) (1) (1)  Detection of gene mutation
( mn v 1 (1) ’
(2)  Molecular dia i
127. Complete the flow chart on central dogma. : S
& CDN-X (‘b)"iﬂ:“RNA © Cor (3) Gene amplification
a A —— m ———»(d)Aw‘O"‘*— . -
(}{ (a)-Transduction; (b)-Translation: /“’)/P urification of;galated.probem
(c)-Replication; (d)-Protein
g (3)"?‘513‘11?3&0{1: (b)-'I’ranscription; 134. Which of the following is a_correct sequence of
(c)-Transduction; (d)-Protein stepsin a PCR (Polymerase Chain Reaction) ?

j}ék (2)-Translation; (b)-Replication: _
(¢)-Transcription; (d)-Transduction (1) - Annealing, Denaturation, Extension

‘_/HJ/ (a)-Replication; (b)-Transcription; Lﬂ;/D;;turation, Annealing, Extension

(0)-Translation; (d)-Protein

128. Inthe equation GPP—R @

)] Denaturation, Extension, Annealing

R represents: (4  Extension, Denaturation, Annealing
Mespi:ation losses O\Grfu‘-"
(2) Radiantenergy A ; 3
9 Retardstion facior 135. Match List -I with List - II.
(4)  Environment factor : Yict -1 List - 11
29. When the centromere is situated in the @f (a) Cells with active cell a Vascular
two pﬁmms of chromosomes, the chromosome division capacity W } tissues
is referred as - = Tissue having all cel.l}\%\ Micateriatic
(1)  Acrocentric (b) [similar in’ structure (i N
—L2r—Metacentric ar_‘d ﬁmc““_“
(8)  Telocentric (c) T.lssue aving / (iji) | Sclereids
" Sub : different types of cells
i ) ubsuetacEnLne . Dead cells with highl
30, "Th‘e plant hormone used to iiistroy weeds in a field @) hiekendd dalls an i |Bimple tisus
e narrow lumen
1 IBA
@ 1aA Select the correct answer from the options given
@ NAA helew.
W 2,4-D @ @» @ @
3L Which of the following are not secondary O G G G 6
metabolites in plants ?
(I) "~ Rubber, gums ( @@ Gv) @ @
(2 Morphine, codeine . .. .
B3 Amino acids, glucose @ v @ @ O
(4)  Vinblastin, curcumin @ G, G) @) v
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™

'[‘It)
Section - B (Biology : Botany)

-

136. Which of the following statements 18 corret t

e

. : (=} l(“!‘i(?
Some of the organisms ean fix atmosp!

W) ;
\ nitrogen in specialized cells called sheath
cells.
@& Fusion of two cells is called Karyogamy.
(3).~ Fusion of protoplasms between two motile

on non-motile gametes is called plasmogamy.

2

Va8

Organisms that depend on living plants are
called saprophytes.

137. Inthe eWowth equation
N,=N_e™, e represents
(1)  The base of geometric logarithms
(2)  The base of number logarithms
(3)  The base of exponential logarithms
(4)  The base of natural logarithms
138.

In some members of which of the following pairs
of families, pollen grains eir viability for

months after release ?

" Rosaceae; Leguminosae
@ Po?ﬁea_e ; Rosaceae
(3)  Poacepe ; Leguminosae
4 Poacxae : Solapa ceae

139. Match Column - I with Column - I1.

Column -1 Column -II
(a) |Nitrococcus | (i) |Denitrification
®) | Rhizobium (i) Conver:siion of
ammonia to nitrite
| Thisbasiitis (y’r Conyersion of nitrite
to nitrate
/ Conversion of
(d) ‘Nitrobact " [ (iv)|atmospheric nitrogen
to ammonia

Choose the correct answer from options given

below.

@ () @ @
O @) G GG
/QZJ’ @ @) @ ()
@ @O G G Gy)
@ @ O v G

18
140.

141.

Scanned By Scann

[ with List - IL.

142.

Match List -
I i i ]’ laist - II ™
U180 - :
] _|Proteins are i
(a) [S phase @ gynthesized
HE.}_ (32 phase (ii) [Inactive phase
] Interval between
- , \(iii) [ mitosis and initiatjr)n
(¢) |Quiescent stage Nl ¢ DNA replicatior
. .
() [G1 phase (j\r) DNA replication
Choose the correct answer from the options give,
below.
(@ () (@© @
O G v @) @
@ @ @ O @
@ Gy @ @) @
W G @ G
Match List - I with List - I1.
List -1 List - 11 ]
(a) |[Protein (i) |C=C double bonds .
®) g?;a::;-;ted | L) |Phosphodiester bonds
(c) |[Nucleic acid” \(iii) |Glycosidic bonds
(d) [Polysaccharide [¥%v)|Peptide bonds

Choose the correct answer from the options giver
below.

@ B © @
\_ﬁ;/(i\’) () @) (1)
(v) @ () (i)
@ O Gv @G @)
@ @@ @ (iv) ()
Match Column - I with Column - I1.
Column - Column - I1

@ %S KeCryp. o, G Brassicacea

(®) $é'K(S)C(t':)‘!\s.(:!z

Liliaceae

P
(© “’ép(a +9A3,4 3G, Fabaceae

@) &¢ Ky 42CiAy_ G,

Select the . :
oty correct answer from the options giver

Solanaceae

@ (b) (¢ d)
M_ @ @ @ gy

(i)  (iv) (i) (;;I.K

@ O @ (i)  (iv)
@ @ G ) @
Go
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What is the role
process of transer

@M. Transc

-~
X

144. Which of the following
-~

]43 .nf RN’\ I,‘ll‘ll_\' m Crase | 1 1
Ption 4, o“‘\'-‘“‘\'nt.nq'—': m ﬂw_
ribes only SNRN A« .

.'.l‘il‘(\q N-' C 1'-““ . S AN 0N
I]“] 1S Ill \ & "wh ll:' |‘l l_l\‘
.’i'n\\ll] es I Na\. L2, 1\\-\ ¢
‘I\l. SC11 b "Q1 hY 4 A1 1 [\ O AN

cursor of mRNA

Transcribes e 1snRNA

atementas je incorrect ?

1) Cyclic photopl Ylation ) |
/ PSTend PS]; 11_031.'}““ Ylation m\-n]v@;ﬁ/
) Both A_TP and NADDPY 4 H ,1;9
svnthesized during non-cyelic
photophosphorylatinn. ‘ ‘
(3  Stroma lamellae have PS | ’
NADP reductase. tkrwiegk
4  Granalamellae have both PS1 and PS1I.

145. Now a days it is possible to de

tect the mutated

gene ca_us_mg_ cancer by allowing radioactive probe
to hybridise its complimentary DNA in a clone of
cells. followed by its

: detection using
autoradiography because : .
‘__—_"_————_‘

(1) mutated gene does not appear on
photographic film as the probe has
complimentarity with it.

(@) mutated gene partially appears on a
photographic film.

3) mutated gene completely and clearly
appears on a photographic film.

(4 mutated gene does not appear on a

photographic film as the probe has no
complimentarity with it.
146. DNA fingerprinting involves identifying differences
in some specific regions in DNA sequence, called

as :

(1)  Polymorphic DNA
Satellite DNA

@)  Repetitive DNA

(4)  Single nucleotides

147.  Which of the following statements is incorrect ?

19

—

(1)  Oxidation-reduction reactions produce
proton gradient in respiration.

(2)  During aerobic respiration, role of oxygen is
limited to the terminal stage.

(3) In ETC (Electron Transport Chain), one
molecule of NADH+H* gives rise to
2 ATP molecules, and one FADH, gives rise
to 3 ATP molecules.

(4)  ATPissynthesized through complex V.

-

P2
Plaamid pBR322 haa Patl reatriction enzyme site
within gene amp™ that confers ampicillin
resistance. [f thia enzyme ia used for inserting a
gene for B-galactoaide production and the
recombinant plaamid ia inserted in an E.coli strain

148,

(1) itwill be able to produce a novel protein with

dual ability.

(2) it will not be able to confer ampicillin
resiatance to the host cell.

(3) the transformed cells will have the ability
to resist ampicillin as well as produce
B-galactoside.

(4 it will lead to lysis of host cell.

149. Identify the correct statement.
/l( ne arrangement is characteristic of
prokaryotes. =

(2)  Incapping, methyl guanosine triphosphate

ig added to the 3’ end of hnRNA. — <
\_/ﬂ/ ‘ .

RNA polymerase binds with Rho factor to
terminate the process of transcription in
bacteria. E o o

“@

The coding strand in a transcription unit is
copied to an mRNA.

160. Select the correct pair.

(1)  Loose parenchymacells - Spongy
rupturing the epidermis parenchyma
and formirig a lens-
shaped opéning in bark

(2) Largecolorlessempty - Subsidiary cells
cellsin the epidermis 3
of grass leaves

(3  Indicot leaves, vascular - Conjunctive
bundles are surrounded  tissue
by large thick-walled
cells

4)  Cellsof medullary rays - Interfascicular

that form part of cambium

cambial ring
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P2

Section - A (Biology : Zoology)

i
List - 11

@) |Acetic Acid

(i) |L.actic Acid

(1) Citric Acid

w) |Butyric Acid

151. Mateh List - 1with List - 11

e —iy

List -1
(a) | Aspergillus mger
(b) | Acetobacter aceti
©) |Clostridinm butylicumy
()| Lactobacillus /

Choose the correct answer fr

BN

om the options given

below,
@ m © @@
(1 w) (i) () (111)
2) @) Q) Gv) (D)
3 Q@ ) Gi)  (v)
@ (1) @) @ (iv)

152. Succus entericus is referred to as:
(1) Chyme
2) Pancreatic juice
43— Intestinal juice

4) Gastricjuice

153. Receptors for sperm binding in mammals are
present =

Zona pellucida
@) Corona radiata
(3) Vitelline membrane
(4)  Perivitelline space

154. Thé vhas 8 chromosomes (2n) in each cell.
During interphase of Mitosis if the number of
chromosomes at G, phase is 8, what would be the
number of chromosomes after S phase ?

(1) 32
_/(ZJ/’ 8

3 16

4 4

Select the favourable conditions required for the
formation of oxyhaemoglobin at the alveoli.

(1) Low pO,, low pCO,, more H*, higher
temperature

(2)~ High pO,, low pCO,, less H*, lower
temperature

() Low pO,, high pCO,, more H*, higher
temperature

(4  High pO,, high pCO,, less H*, higher
temperature

1565.

166. Match the following

I;i-qt - I

()
)
(c)

dinctada - -
((::]r1riqe the correct answer from the options give,
below.
(a) (b) (c) (f_l)
M 4 Gv) @D G
ey G G @ V)
@ Gv) G @) (i1)
@ Gy @Gy @ @

prophase show

s meiot' B
167. Which stage of-__,,JSta os §i distinetiv

terminalisation of chiasma
feature 7

(1)  Pachytene

(2) Leptotene

(3) _ Zygotene

_/{4( Diakinesis
158. of the DNA molecul_e, wha
wlll be the percentage o ine, Guanine an

Cytosine init ?

20;G:25;C:25 @M'LC@

ye==T
@ T:20;G:30;C:20 30+10 20
(3) T:20:G:20;C:30

‘_‘(4)/"[‘:30;(}:20;0:20
159. - The partial pressures (in mm Hg) of oxygen (O.
and carbon dioxide (CO,) at the site «

diffusion) are :

0,=159and pCO,=0.3 \ 3% L
pO, =104 and pCO, =40 oy &
@3) pO,=40andpCO,=45 =~ AT ©
4) pO,=95and pCO,=40 ©® uP
10 \45

160. Read the following statements.
D@ Metagenesis is observed in Helminths.
M Echinoderms are triploblastic and coeloma
animals. 4 N -
< (&~ Round worms have organ-system level
body organization.
2. Comb plates present in ctendyhores help:
digestion. K
Water vascular system is characteristic
Echinoderms.
Choose the correct answer from the options give
below.
(1) ), (¢) and (e) are correct
(), (d) and (e) are correct
(3) = (a), (b) and (c) are correct
(4)  a), (d) and (e) are correct
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As -
==

In a cross betwee, a m;, -'\r\ f A
161- heterozygous for gipk]p_:_l}‘_‘lllv MA o : e 2
ercentage Uﬁ'h“-l"'h';(_"#:i‘h\'- A Naem i : Choty
@ 100% Y WiThE Qi &5 Vhat
o =207 5
@  50% - : 3
@ _-15% ® Xl <
25% Xy
62. which of the followin »
16% " represents the nature O{‘m.‘;t”lo]““ iy, wivn
@  These muscleg are O0th mugg)p foongly
blood vessels Preseng ‘iﬁ-ﬁ?‘n e
. ’HTI i € wall of
& 1ese muscle have NO strint;
: hey are il'l\'tﬂum.m‘l‘l\m'“mR
/(47 Comm ulm__ﬂ;_li uscleg
performed byil‘ltel‘(“‘;l ONg the cellg
‘ ——Alated discs 4, - N
163. Which one of the following be) Cayy Lia W
Muscidae ? Ongs to the family
ouse fly
@  Firefly
)  Grasshopper
@  Cockroach
g4. During the process of i -
2 PCR, if very high temp oo lification using
ru Ty mg mperature is not, i
m the beginning, then which of thﬁm
of PCR will be affected first ? T Ow g steps
(1) Ligation
(2 Annealing
3  Extension
Denaturation
165. Match List -1 with List - II.
List -1 List - II
(a) |Metamerism G |Coelenterata
(b) {Canal syste /(y Ctenophora
(c) |Comb plates 'igl) Annelida
(d) |Cnidoblasts./ \Qv) Porifera
E}:{gose the correct answer from the options given
elow.
@ ((b) (@ @
™ 6 @ G
( (}f{) () @ (1)
(€) )  Gv) O (i)
@ Gav) @ @

186. Which one of the following is an example of
Hormone releasing IUD ?

() “Multiload 375 <
@  CuT
LNG 20
4 Cu7
167. The centriole undergoes duplication during :
(1) _Ggyphase
- S-phase
@)  Prophase
(40 Metaphase

- qQ,
q
168, Which of the following characteriatics th
with reapect to cockroach ?
(70\ 10" abhdominal segment in hoth sexes, bears
apair of anal cerei,
(\‘_Q‘),—/K ring of rg_:mt.ric caeca ia present at the
junction of midgut and hind gut.
(3) Hypopharynx lies within the cavity enclosed
by the mouth parta,
(M Infemales, 7th-9th gterna together form a
genital pouch.
169,  Dobsgon units are used to measure thickness of :
n Tropoaphere
(2) CFCsa
3) Stratosphere
Ozone

170. Veneral diseases can spread through :
ﬂ) Using sterile needles
« @y~ Transfusion of blood from infected person

(© Infected mother to foetus
X Kissing -
X\ Inheritance
Choose the correct answer from the options given
below. '
). (a)and (c) only
X2)  (a), (b) and (c) only

), (¢) and (d) only

(b) and (c) only

171. Which one of the following organisms bears hollow
and pneumatic long bones ?

(1)  Ornithorhynchus
v(a)"’ Neophron

3) Hemidactylus

(4) Macropus

172. Persons with ‘AB’ blood group are called as

“Universal recipients”. This1s due to:

(1)  Absence of antibodies, anti-A and anti-B, in
plasma
(2—Absence of antigens A and B on the surface
of RBCs
(3) Absence of antigens A and B in plasma
(4)  Presence of antibodies, anti-A and anti-B,

on RBCs

178. The organelles that are included in the

endomembrane system are :

(0] .(N}lglgi_gomplex, Endoplasmic reticulum,
itochond™ and [ysosomes
(20 Endoplasmic reticulum, Mi¥chondria,

tbbsomes and Lysosomes
Endoplasmic reticulum, Golgi complex,
Lysosomes and Vacuoles
“)

Golgi complex, Mitochpndria, Ribosomes and
Lysosomes
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22 g RNAS is not :
n req "
> Which of the follow! g ——Mired g,
P2 R 178. . of protein ey
. h,n{iﬂu{‘ Y the gy[‘lth&ﬂlso prees -

174. A specific recognition sequence 1 itions = v

A ¢ ke cuta Wt apecific posit :

endonucleases to make €77 1L e siRNA

within the DNA is: .
(1) Poly(A) tail sequences 2 mRN

@  Degenerate primer spquence 3 tRNA
®)  Okazaki sequences A rRNA
sequences an objective )

— s s 5 .
w4 Palindromic Nucleotide Which of the following is 10t

179. 18, =
< Biofortification in Crops |
G 5, lIdentify the incorrect pair. ’ (*-’""'1) uidave micronutrlent i arieral Sk
- A Drugs - Ricin L/ @ Improve protein cor}tent
~ B, Ay > L c/@),/l’n':lprove resistance to diseases
e ‘E\ s - i (4) Improve vitamin content
t& Lectins - Concanavalin A |
180.C Erythropol hormone which stim ulates R.B.C.

—_—

i ion i dby:
176. With regard to insulin choose correct options. formation is produced by
mﬂglomenﬂar cells of the kidney

Mptide is not present in mature insulin.

f creas
. The insulin produced by rDNA technology @  Alpha cells of pan

I has C-peptide. (3) Thecellsof rostral adenohypophysis
M; pro-insulin has Q-peptide. (4)  The cells of bone marrow
Meptide and B-peptide of insulin are
Sgiespannectey by‘disu]p}'iide Sk 181. Whichenzymeis responsible for the conversion of

- . 1 i 1 T ms- 9
Choose the correct answer from the options given inactive ﬁb‘:‘.%‘_‘ﬁ?ﬁ"ﬁ“ ﬁb‘*—' 3

below. (1)  Thrombokinase

(1) (a)and(d) only {2~ Thrombin

(2)  (b)and (d)only ﬁ?ﬁ'\ Ranin

(3)  (b)and(c)only (4)  Epinephrine

_}5.)/(3), (c) and (d) only

177. Chronic mune disorder affecting neuro
muscularjinction leading to fatigue, weakening

182. Fpr effective treatment of the disease, early
diagnosis and understanding its pathophysiology
is very important. Which of the following

and wﬂ of skeletal muscle is called as ; ;(:.llicdué?; eﬁsgr;ostic techriqueg isﬂ_‘fi‘:“_f for

a  Gout (1)  Hybridization Technique

(2)  Arthritis — rr- (20 Western Blotting Technique
Mscular dystrophy (3)  Southern Blotting Technique

‘y/’ Myasthenia gravis ’_/6‘ ELISA Technique
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& AL A 23
/\‘Q Junction ofjojunum ang
i e ( d”“dt‘nmn
/ril Ileﬂ'faecﬂl_iunctinn
Junction of |
/m{c;lenuuw l‘lnmv e g
_— ey and
Gastro-oes .
@ O€sophageq) Nnetion
\\'thh is th'<;ﬁ NZyme” ty,,

t SR
mcata]\ se Imi on, Elongatmt; " ; *1 (j}l3=\11i]i13,-~
¥ process of trangent e mt N 'I‘m-nﬁlih't.iﬁﬁ

hb& Pro ]\'il\ "oteg ?
(1) DNase
; NA
@ DNAdependent DNA Polymerage
})/ DNA dependent RNA DOlsmerase
@ DNA Ligase
~ Match List - T with List - II.
= T T aae e
List -1 List - I1
___-_'__'——-____
@ |Vaults Gy Entry of sperm through
Cervix is blocked
(b) |TUDs oy (h}'ﬂ'emoval of Vas deferens
P Phagocytosis of sperms
Vasectomy] 3
9| Vasectomy >éj)‘}ithin the Uterus
(d) |Tubectomy LGvyTRemoval of fallopian tube
Eehooae the correct answer from the options given
low.
@ @M @© @
O G @& G @
@ G @ @ G
/\1/('1) G) @) )
D 6@ e @ 0

P2
Section - B (Blology : Zoology)
186.  Match Liat - with Liat - .
 Tiatod List - If
(n)[Seapula “~_ | |Cartilaginous joints
(b) [Cranium ~ T |Flat hone
(©)[Sternum r’]/ ") |Fibrous joints
(d) [Vertebral column (iv) [Triangular flat bone
Choose the correct anawer from the options given
below,
() (b) () (d)
Gv) (i) (D 1)
("*) ) (i) @G (v
(i)  Gv) @)
(4) (IV) (i)  Gi) ()
187,

F ollowmg are the statements with reference to

hEldS i

17(2 Lipids having only single bonds are called
unsaturated fatty acids.

— & Lecithinisa phospholipid.

e
(_@./Tnhydroxy propane is glyeercl,
( Palmits as 20 carbon atoms including
carboxyl carbon

1D
Arachldomm carbon atoms.

lE)hooae the correct answer from the o
elow.

(b) and (e) only
( (a) and (b) only

BK_ (cLand (@) only
//cb;:nd (9) only

188. Match List - I with List-1I1.

ptions given

List -1 List - IT
(a) |Allen's Rule | (@) Kangaroo rat
Physiological | .., :
(b) S AT j,td Desert lizard
Behavioural” | ... ;
(c) arlaptation (i11) [Marine fish at depth
Biochemical |,.
(d) s (iv) |Polar seal
Choose the correct answer from the options given
below.
) (b)) (© (@
L/ua/:;) @ @ G
@ v @ G @
@ v G i) )
@ v O @ @)
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189. During muscular contraction W
following events occur ?

hich of the

(@) ‘N zonedisappears
‘ ‘A’ band widens
e 1" band reduces in width
@  Myosine hydrolyzes ATD, yele
and Pi

@ Z-lines
Choose the correct answer from the optio
below.

/‘V}_ (d), (e), (a) only
( (a). (©). (d). () only
@K @, @), ©. (@) only
@ ®). ©, (@), () only

190. Match List - I with List - 11.

:mil'lg thc }\I)P

; : 8
attached to actins are l?l‘HEd mwnrd
ne given

List -1 List - II
Selection of resistant
@ Adaptive @ varieties due. to excessive
' radjation\ use of herbicides and
pesticides
) Convergentjr @) Bones of forelimbs in Man
evolution \\ and Whale -
Divergent . YWings of Butterfly an
© evolution \(m) *];grdg ; '
Evolution by
(d) |anthropo- (iy) |Darwin Finches
enic action
Choose the correct answer from the options given
below.
@ () © @
o _6 @ G 6@
Gv) @) @) @
@ @ @ O @
4 @ @ Gv) (i)

191. Assertion (A):

A person goes to high altitude and experiences
‘altitude sickness’ with symptoms like breathing
difficulty and heart palpitations.

Reason (R) :

Due to low atmospheric pressure at high altitude
the body does not get sufficient oxygen. :

In the light of the above_ statements, choose the
correct answer from the options given below.

(1) (A)is false but (R) is true
(2) Both (A) and (R )
correct elltplmrmtit:)nrfI ;? (E:;lﬁ and (R) is the
(3) Both(A)and (R)aret :
correct explanati:;‘f) f‘at; but (R) is not the
(4)  (A)is true but (R) is false

an important compq,.

24
nin humans?

ich of thes® j

¢ W}'I 1
192, 2 tion of partiie”

(M

¢ In

nt of
Release of Prolactin
crease 11 estrogen# progesterone -

Synthesis of pmstaglandjns

Release of Oxytocin

(3)
4

wing secretes the hormop,

; follo
Which of the later phase of pregnancy?

relaxin, during the
Pk e

(1) Uterus A
@ Graafian folliclg/

Morpus Juteum

(4)  Foetusa

193.

194. Match List - I with List - II.

List -1 List - II
RIS .. |[Haemophilus -
(a) |Filariasis (i)/in. Auenzae
(b) |Amoebiasis /fii)/,Trichophyton
(©) Pneumon_ija\(l((»jﬁ) Wuchereria bancrofti
@ R'ingworm/' bv) Entamoeba histolytica

Choose the correct answer from the options given

below.

@ (b ©@ ©@
O @ @ O @
@ G O @) @ L
) @ v O @)
@ O @ G G /{

195. Which of the following is A step in Multiple

Ovulation E .
(MOET) ? mbryo Transfer Technology

&‘L)\ Fertilized eggs are transferred to surrogate
mothers at 8-32 cell stage =

/G((;ow is administered hormone having LH

like activity for super ovulation

.

—3 Cow yields about 6-8 eggs at a time

(9—Cow is fertilized by artificial insemination
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98.

The Adenosine deamiy, deficj
=11C1e

ney pe
R A LHl'I]l.!-H‘I\l(l
) Addison’s djge. ase B o
; Dysfunction of ]
(z) 11\11‘1111\0 R}'len
@ Parkinson’s diseage

@) Digestive disorder

Which one of the fOllomng st
Histones s w rong? 8 -ﬁt.ementq
‘-___'__“—-—w

0 Histonesg CATTY Positiv
chain. Positive chay B¢ In the side
@  Histones are o an
8 molecules, Samzed to fory 4 unit of
®  ThepH of histones is slightly acigjc
(4 Histones are rich in amino acids - Lys;
el acids - Lysine
Statement I ;

The codon ‘AUG’ codes for
phenylalanine.
PC\

Statement I1 :

methionine and

‘AAA’ and ‘AAG’ both codons code for the ammo
acid lysir lysine.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Statement 1 is incorrect but
Statement II is true

@  Both Statement I and Statement II are
true

®)  Both Statement I and Statement II are

false

rect but Statement Il

LYE’
\O
SN

Statement I is cor

(4
: is false

%
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P2
199, Identify the types of cell junctions that help t
the leakage of the substances across a tissue ard
facilitation of communication with neighbouring
cells via Hlpl(l tmnﬁfernf ions and mo[ecmeﬂ
(1) Adhering junctions and Gap junctions,
reapectively.
(2)  Gap junctions and Adhering junctions,
respectively.
o ¢ Tight junctions and (.ap junctions,
respectively.
(1) Adhering junctions and Tight junctions,

respectively.

200. Following are the statements about prostomium
of earthworm.

(a)

It serves as a covering for mouth.,

(b)  Ithelpstoopen cracks in the soil into which
it can crawl.
© Itisoneof the sensory structures.
d) Itisthe first body segment.
Choose the correct answer from the options given
below.
(1)  (b) and (c) are correct
@  (a), (b) and (c) are correct ::7
@)  (a), () and (d) are correct °'}\
@  (a), b), () and (d) are correct <4

-00o0- ec,%
[ - -
Qe % AL N N
D'?
A @
N/ \‘-"’Q“ >
S 4. _
//4, SOk
S SR
x- v
en Y
\f N <
_Cl < 4
% %‘$ /Q/:;"P?
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